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 ا   :ن

ا ل اع ا : 

    ح اّق
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1 ( أً ًًا نّا  ء: -                                       

                                                     -:اد اّ ن ) 2
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 ا  رةا و  حج"ا": -  
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             - :ّ ...0.33 ا اء اّن اّ   ات) 4

                       -:ا إ ا  ا اد اا ّ5) ر 
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          -: إح  ات ا اّ ،أ  ر ) 6
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8 ( ا را ّ ط ّو:-                                   
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9 ( ا را ّ ط ّو:-                                   
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 (ت اا  ا  رة"؟ "دّ                                

                                   )ّ ط (  -:أ اد ا -أ) 11
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                                     -:وي  45  0.01 اد) 12
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13 (د اا أ:-                                                         

  

                                                  -:ر  إّل ) 14
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16 (ا ّا ا ّ:-)    ط ّ(                           
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                          .   ل  ت 315.5رة  -ب

  رةا  اً 8  ت إذا ؟أ رةا  ن          

  

  

  

  . د 5 د ان  0.75   ا  أن ّ - ج

 ا  ى ن نا د أ أن   ؟                    

)ا ا ّ(  

  

  

               .و  ال أم 10 أر إ 7 مّ ّ أمب ط  -د

1(  اً ا ما  وا  لة؟ ط                         

  

   ؟ر أ ااب )2

 ( ك35اًو ما    . 0.4ا  با  .              

 اًو را    ؟  


